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ÿoˆÁTˆEı YÁPˆy‘] (B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á (Term End Examination) 

◊Qˆ„a∂ëˆÃ[˝, 2014 C L«X, 2015 

ac˜ÁÃ^Eı YÁPˆy‘]-2 ( Subsidiary - 2 ) 

=◊‡ˆV◊[˝VÓÁ ( Botany ) 
◊•Tˆ›Ã̂  Yy (S-II, SBT-II : Botany-II) 

a]Ã^  f ◊TˆX H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 3 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 

Special credit will be given for accuracy and relevance 
in the answer. Marks will be deducted for incorrect 

spelling, untidy work and illegible handwriting. 
The weightage for each question has been 

indicated in the margin. 

◊[˝\ˆÁG - Eı 

 Â^ ÂEıÁ„XÁ ªV«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

1* %‰ªRÙOÁ„L◊XEı =◊‡ˆV Y^ÔÁÃ^ EıÁ„Eı [˝„_ ? =◊‡ˆV Y^ÔÁ„Ã^Ã[˝ 
Yà˘◊Tˆm◊_ ◊[˝`„V [˝SÔXÁ EıÃ[˝”X* LÁÜ_ =◊‡ˆ„VÃ[˝ 
%ÜaeÿöˆÁ◊XEı È[˝◊`rÙÓm◊_ =‰{F EıÃ[˝”X* V«◊ªRÙO _[˝SÁ∂ëˆ« 
=◊‡ˆ„VÃ[˝ =VÁc˜Ã[˝S ◊VX* 2 + 8 + 8 + 2 

2* È[˝W˝ Y“EıÁ`X EıÁ„Eı [˝„_ ? È[˝W˝ Y“EıÁ`„XÃ[˝ ◊XÃ^]m◊_ [˝SÔXÁ 
EıÃ[˝”X* V«◊ªRÙO ◊[˝FÓÁTˆ c˜Á„[˝Ô≈◊Ã[˝Ã^Á„]Ã[˝ XÁ] ◊_F«X* =◊‡ˆV 
aeEıÃ[˝ÁÃ^„SÃ[˝ Yà˘◊Tˆ A[˝e =„ï`Óm◊_ ◊_F«X * 

  2 + 6 + 2 + 10 

3* aÁ„_ÁEıae‰`¿„bÃ[˝ %μ˘EıÁÃ[˝ ◊[˝◊y‘Ã^Áy‘] a+„EÔı W˝ÁÃ[˝SÁ ◊VX* 
c˜ÓÁªJÙ C ÿ⁄ˆÓÁEÀı ªJÙy‘ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? =◊‡ˆ„V Ac˜O ªJÙ„y‘Ã[˝ 
=Y„^Á◊GTˆÁ ◊Eı ? =dÂaªJÙ„EıÃ[˝ ◊[˝◊\ˆ~ Y“EıÁÃ[˝ [˝ÁW˝ÁVÁXEıÁÃ[˝› 
YVÁ„UÔÃ[˝ =VÁc Ã̃[˝Sac˜ Ê`“◊S◊[˝\ˆÁLX EıÃ[˝”X* 

  6 + 2 + 4 + 8 

4* ◊X∂oˆ◊_◊FTˆ Y“◊y‘Ã^Ám◊_ a+„EÔı ªRÙO›EıÁ ◊_F«X f 4 × 5 

 Eı) ◊XÿÉˆÁ[˝S 

 F) L_ ◊[˝\ˆ[˝ 

 G) %S«◊[˝ÿôˆÁÃ[˝ 

 H) Â^Ï◊GEı Zı_ 

 I¯) %‰ªRÙOÁY◊_Y¿Ã^◊Qˆ* 

◊[˝\ˆÁG - F 

 Â^ ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

5* Y«e„Eı`„Ã[˝Ã[˝ ◊[˝◊\ˆ~ Y“EıÁÃ[˝ a]ae„^ÁG [˝«◊Mı„Ã^ ◊VX* =◊‡ˆ„VÃ[˝ 

◊[˝◊\ˆ~ Y“EıÁÃ[˝ %]Ã[˝Á◊[˝XÓÁa %Á„_ÁªJÙXÁ EıÃ[˝”X* 5 + 7 

6* [˝ÓÁEı‰ªRÙO◊Ã[˝Ã^Á A[˝e =~Tˆ =◊‡ˆ„VÃ[˝ aÁ„_ÁEıae‰`¿„bÃ[˝ YÁUÔEıÓ 

%Á„_ÁªJÙXÁ EıÃ[˝”X * 6 + 6 
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7* =◊‡ˆ„V XÁc Õ‰ÆœÙÁ„LX A[˝e ]ÓÁG„X◊aÃ^Á„]Ã[˝ %\ˆÁ[˝L◊XTˆ 

_l˘Sm◊_ A[˝e ◊[˝YÁ„Eı A„VÃ[˝ \…ˆ◊]EıÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

  (3 + 3) × 2 

8* =◊‡ˆ„V L›XY“^«◊N˛Ã[˝ [˝Ó[˝c˜Á◊Ã[˝Eı Y“„Ã̂ ÁG a∂ë̂ „μ˘ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 12 

9* Y«πY Y◊Ã[˝ÿˆï«ıªRÙOX Y“◊y‘Ã^ÁÃ^ ZıÁc Õ‰ªRÙOÁ„y‘Á„]Ã[˝ mÃ[˝”±ºˆ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* ÊZ¿ıÁ◊Ã[˝„LX ◊Eı ?  8 + 4 

10* `üÁa %X«YÁTˆ ◊Eı ? `üÁa %X«YÁTˆ Y◊Ã[˝]Á„YÃ[˝ =Y„^Á◊GTˆÁ 

◊Eı ? c Õ„_EıÆœÙX Y◊Ã[˝[˝c˜XTˆ‹ó̂  ◊Eı\ˆÁ„[˝ ATP =dYÁV„X 

ac˜ÁÃ^TˆÁ Eı„Ã[˝* 3 + 3 + 6 

◊[˝\ˆÁG - G 

 Â^ ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

11* =◊‡ˆ„V c˜O◊U◊_„XÃ[˝ `ÁÃ[˝›Ã[˝[˝ w¯›Ã^ ◊y‘Ã^Ám◊_ [˝SÔXÁ EıÃ[˝”X * 6 

12* =◊‡ˆ„VÃ[˝ %S«◊[˝ÿôˆÁÃ[˝ (micropropagation) ◊Eı\ˆÁ„[˝ EıÃ[˝Á 

c˜Ã^ ? AÃ[˝ Eı„Ã^Eı◊ªRÙO [˝Ó[˝c˜Á◊Ã[˝Eı Y“„Ã^ÁG =‰{F EıÃ[˝”X* 

  4 + 2 

13* CAM-AÃ[˝ =Y„^Á◊GTˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 6 

14* YyÃ[˝μ–˘›Ã^ [˝ÁπY„]ÁªJÙ„XÃ[˝ rÙÁªJÙ¤-`EÔıÃ[˝Á ]Tˆ[˝ÁV◊ªRÙO %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 6 

15* EıÓÁ„Ã[˝Á◊ªRÙOX„Ã^QˆaÀ ◊Eı ? aÁ„_ÁEıae‰`¿„b A◊ªRÙOÃ[˝ \…ˆ◊]EıÁ =‰{F 

EıÃ[˝”X* 3 + 3 

16* V«◊ªRÙO Eı„Ã[˝ Tˆ‹ô«ˆ Y“VÁXEıÁÃ[˝› C Ã[˝tEı V–[˝Ó =dYÁVXEıÁÃ[˝› 

=◊‡ˆ„VÃ[˝ =VÁc˜Ã[˝S ◊VX* TˆÁ„VÃ[˝ AEı◊ªRÙO Eı„Ã[˝ [˝Ó[˝c˜Á◊Ã[˝Eı Y“„Ã^ÁG 

=‰{F EıÃ[˝”X* 4 + 2 

17* ÂaÁ_Á„Xa› ÂGÁ‰yÃ[˝ =◊‡ˆ„VÃ[˝ ªJÙÁ◊Ã[˝◊≈yEı È[˝◊`rÙÓm◊_ =‰{F 

EıÃ[˝”X* 6 

18* %◊EÔı„Qˆa› ÂGÁ‰yÃ[˝ `XÁN˛EıÁÃ[˝› È[˝◊`rÙÓm◊_ =‰{F EıÃ[˝”X* 6 
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( English Version ) 

 

 

Group – A 

 Answer any two questions : 20 × 2 = 40 

1. What is autogenic plant succession ? Write down 

processes of plant succession in detail. Write 

down morphological features of Xerophytes. Give 

examples of two halophytic plants. 2 + 8 + 8 + 2 

2. What is valid publication ? Write down the rules 

for valid publication. Name two famous 

herbarium. Write down plant breeding processes 

mentioning its utilities. 2 + 6 + 2 + 10 

3. Give an idea about dark reaction in 

photosynthesis. What is Hatch and Slack cycle ? 

What is the utility of this cycle in plants ? 

Classify enzyme inhibitors giving examples of 

each type. 6 + 2 + 4 + 8 

4. Write short notes on the following processes : 
  4 × 5 
 a) Guttation  
 b) Water potential 
 c) Micropropagation 
 d) Multiple fruits 
 e) Autopolyploidy. 
 

Group – B 
 Answer any three questions : 12 × 3 = 36 

5. Discuss about different types of cohesion of 

stamens. Discuss about different types of 

placentation in plants. 5 + 7 

6. Differentiate between photosynthesis of bacteria 

and higher plants. 6 + 6 

7. Write down the symptoms of nitrogen and 

magnesium deficiency in plants. Write down 

their roles in metabolism. ( 3 + 3 ) × 2  

8. Discuss about application of genetic engineering 

in plants. 12 

9. Discuss the role of phytochromes in flowering. 

What is florigen ? 8 + 4 

10. What is respiratory quotient (RQ) ? What is the 

utility of calculating respiratory quotient ? How 

does electron transport system help in ATP 

formation ? 3 + 3 + 6 
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Group – C 

 Answer any four questions : 6 × 4 = 24 

11. Write down the physiological role of ethylene in 
plant. 6 

12. How micropropagation can be done in plants ? 
Give some examples of application of this 
process. 4 + 2 

13. Write down the utility of CAM. 6 

14. Discuss starch-sugar concept of transpiration. 6 

15. What are Carotenoids ? What are their roles in 
photosynthesis ? 3 + 3 

16. Give two examples of a fibre producing and 
pigment producing plants. Give an application of 
each of them. 4 + 2 

17. Write down the characteristic features of the 
family Solanaceae. 6 

18. Discuss identifying characters of the family 
Orchidaceae. 6 

    


